

Transfers Report

This report contains the transfers results.

Contest Name	Nairn and Cawdor
Valid Votes	5,156
Positions to be Filled	4
Quota	1,032

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Kevin BROOKS	Independent	192
Laurie FRASER	Independent	1,215
Michael GREEN	Independent	857
Barbara Babs JARVIE	Scottish Conservative and Unionist	836
Cal MACLEOD	Scottish Family Party Pro-Family, Pro-Marriage, Pro-Life	38
Paul OLDHAM	Scottish National Party (SNP)	1,401
Kevin James REID	Scottish Liberal Democrats	540
Marjory SMITH	Alba Party for independence	77
Total		5,156

Candidate Laurie FRASER Elected with 1,215 votes, being in excess of the quota of 1,032

Candidate Paul OLDHAM Elected with 1,401 votes, being in excess of the quota of 1,032

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Paul OLDHAM

369.00000

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Kevin BROOKS	144	0.26338	37.92672
Transfer to Michael GREEN	274	0.26338	72.16612
Transfer to Barbara Babs JARVIE	16	0.26338	4.21408
Transfer to Cal MACLEOD	40	0.26338	10.53520
Transfer to Kevin James REID	263	0.26338	69.26894
Transfer to Marjory SMITH	250	0.26338	65.84500
No further preference	414	0.26338	109.03932
Not transferred due to rounding			0.00462
	Total		369.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Laurie FRASER

183.00000

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Kevin BROOKS	160	0.15061	24.09760
Transfer to Michael GREEN	575	0.15061	86.60075
Transfer to Barbara Babs JARVIE	140	0.15061	21.08540
Transfer to Cal MACLEOD	12	0.15061	1.80732
Transfer to Kevin James REID	148	0.15061	22.29028
Transfer to Marjory SMITH	20	0.15061	3.01220
No further preference	160	0.15061	24.09760
Not transferred due to rounding			0.00885
	Total		183.00000

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Cal MACLEOD

50.34252

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Kevin BROOKS	8	1.00000	8.00000
Transfer to Michael GREEN	7	1.00000	7.00000
Transfer to Barbara Babs JARVIE	4	1.00000	4.00000
Transfer to Kevin James REID	5	1.00000	5.00000
Transfer to Marjory SMITH	5	1.00000	5.00000
Transfer to Kevin BROOKS	2	0.26338	0.52676
Transfer to Michael GREEN	6	0.26338	1.58028
Transfer to Barbara Babs JARVIE	2	0.26338	0.52676
Transfer to Kevin James REID	13	0.26338	3.42394
Transfer to Marjory SMITH	4	0.26338	1.05352
Transfer to Kevin BROOKS	3	0.15061	0.45183
Transfer to Michael GREEN	1	0.15061	0.15061
Transfer to Barbara Babs JARVIE	2	0.15061	0.30122
Transfer to Kevin James REID	2	0.15061	0.30122
No further preference	9	1.00000	9.00000
No further preference	13	0.26338	3.42394
No further preference	4	0.15061	0.60244
Not transferred due to rounding			0.00000
	Total		50.34252

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Marjory SMITH

151.91072

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Kevin BROOKS	21	1.00000	21.00000
Transfer to Michael GREEN	15	1.00000	15.00000
Transfer to Barbara Babs JARVIE	5	1.00000	5.00000
Transfer to Kevin James REID	13	1.00000	13.00000
Transfer to Kevin BROOKS	38	0.26338	10.00844
Transfer to Michael GREEN	55	0.26338	14.48590
Transfer to Barbara Babs JARVIE	4	0.26338	1.05352
Transfer to Kevin James REID	47	0.26338	12.37886
Transfer to Kevin BROOKS	6	0.15061	0.90366
Transfer to Michael GREEN	1	0.15061	0.15061
Transfer to Kevin James REID	4	0.15061	0.60244
No further preference	28	1.00000	28.00000
No further preference	110	0.26338	28.97180
No further preference	9	0.15061	1.35549
Not transferred due to rounding			0.00000
	Total		151.91072

Transfers Report

This report contains the transfers results.

Stage 6 - Surplus of Michael GREEN

22.13427

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Kevin BROOKS	263	0.02099	5.52037
Transfer to Barbara Babs JARVIE	145	0.02099	3.04355
Transfer to Kevin James REID	238	0.02099	4.99562
Transfer to Kevin BROOKS	119	0.00553	0.65807
Transfer to Kevin James REID	57	0.00553	0.31521
Transfer to Kevin BROOKS	216	0.00316	0.68256
Transfer to Barbara Babs JARVIE	90	0.00316	0.28440
Transfer to Kevin James REID	118	0.00316	0.37288
No further preference	233	0.02099	4.89067
No further preference	159	0.00553	0.87927
No further preference	153	0.00316	0.48348
Not transferred due to rounding			0.00819
	Total		22.13427

Transfers Report

This report contains the transfers results.

Stage 7 - Exclusion of Kevin BROOKS

301.77601

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Barbara Babs JARVIE	30	1.00000	30.00000
Transfer to Kevin James REID	81	1.00000	81.00000
Transfer to Barbara Babs JARVIE	9	0.26338	2.37042
Transfer to Kevin James REID	82	0.26338	21.59716
Transfer to Barbara Babs JARVIE	35	0.15061	5.27135
Transfer to Kevin James REID	46	0.15061	6.92806
Transfer to Barbara Babs JARVIE	35	0.02099	0.73465
Transfer to Kevin James REID	90	0.02099	1.88910
Transfer to Barbara Babs JARVIE	4	0.00553	0.02212
Transfer to Kevin James REID	48	0.00553	0.26544
Transfer to Barbara Babs JARVIE	40	0.00316	0.12640
Transfer to Kevin James REID	66	0.00316	0.20856
No further preference	110	1.00000	110.00000
No further preference	93	0.26338	24.49434
No further preference	88	0.15061	13.25368
No further preference	138	0.02099	2.89662
No further preference	67	0.00553	0.37051
No further preference	110	0.00316	0.34760
Not transferred due to rounding			0.00000
	Total		301.77601

Transfers Report

This report contains the transfers results.

Stage 8 - Exclusion of Kevin James REID

783.83771

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Barbara Babs JARVIE	204	1.00000	204.00000
Transfer to Barbara Babs JARVIE	123	0.26338	32.39574
Transfer to Barbara Babs JARVIE	57	0.15061	8.58477
Transfer to Barbara Babs JARVIE	99	0.02099	2.07801
Transfer to Barbara Babs JARVIE	56	0.00553	0.30968
Transfer to Barbara Babs JARVIE	53	0.00316	0.16748
No further preference	435	1.00000	435.00000
No further preference	282	0.26338	74.27316
No further preference	143	0.15061	21.53723
No further preference	229	0.02099	4.80671
No further preference	49	0.00553	0.27097
No further preference	131	0.00316	0.41396
Not transferred due to rounding			0.00000
	Total		783.83771